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HEN

B,C,DODOOODOOODOOOG(n,2n+1), LG(n,2n), OG(n,2n)
OD0000000000 KOODOoOoooooooooo(@oooo
DO000000X¥YOOOOOyeOO)OOOoooood (Schur
O0000)0D0o000o0oooooooooooonoo

000000000000 0000000D000([I-N] Odfactorial
Schur P,Q-0 0000000000

Oo0oDAQ0DODODODOOODOO Gr(n,n+m)00O000OKOO
0000 Buch(2002)000000000000O000OO factorial
0000000000000 McNamara(2006)0 00 factorial
Grothendieck DD OO OOO(DO0OO0OO0OOOODOODOOO
OO0oo0ooOooooog)



A.BuchOOOooogogond

ADODOODOD0OO0Gr(n,n+m)0 KOOOODODOOOODOO
0000000000000 A.Buch(2002) 000000000000

(Set-valued semi-standard tableaux) DO OO OO0O0OO0O0O
0000 Grothendieck DO D OO0O0O0000X= (A1, A2, ..., \r)
HREREREEE

ggn)(xl,...,a:n) — Z (_1)|T|—‘)\‘xT
TeSSSTab(A;n)

oogug

0 A=(4,3,1),n=6, |\ =8

1,212,3,4/5|5,6
T=| 3 5,6 |6 T =13, ! = xlx%x%azz@ga}g
5




SSSTabO EYD(Excited Young diagram)

AN EE BN |

OX=(4,3,1),n=6,A=H 1 1 B0\ 000 (excite)
N
1| O

1,212,3,4[5[5,6 2 | O

T=| 3| 56 |6 D=3 — ]

5 4 H
5 H [] H
§) H N

O\ (w1, vmn) = 3 Wit1y(D)
De&E(An)

OD000&E\;,n)DO0nO000000000 EYDOOOODOO
(i,5)eD  (p,q)€B(D)
B(D)OODO 100000000 O0oOODO0OO0O0O0oOoOOoO0oOoOooooon
4



00 0O0OA=(O,-,M), r<n0000r00000000
000000
Gg\n)(x“)) = Z 'w<[$1|b]>\1+n_1[$2|b]>\2+n_2---[$n|b]>‘n
WESh
1
< 1

1<i<j<n TiOZj

GR(alp) 1= (fn,—lr)! 2 w( [l (Hxi'b]]/\i 1l xi@xj»

wes, \1<i<r i<j<n TiO Tj

0000b=(b1,by,..)00(00)000000. OO0
g:000, 2@y :=az+y+pfxy, 0y = (r—y)/(1+py)0 0000

[z[b]" := (z @ b1)(x @ b2) -~ (@ by), [[z[b]]* := (@@ 2)(@®by) - (z D bg_1)
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Determinantal,Pfaffian formula

det ([z;[p] T (1 + Bz;)7 L)

(n) - nxn
G [Ti<icj<n(®i — 7))
Ay B
(n) pf<—“gA 0/\> i
GRGal) = gy IL A+ Be)’
Aq B
o pf<—tg& 0A> i )
(2 10) siany - 1L+ 8o
0000

Ap = (“”Z’_%’) By = ([l i (1 Ba) )

and BY = ([lai o] #1749 (1 + ;) )

nx¥t

nxpt’



Combinatorial formula using set valued semi-standard tableaux

GPaEpy= > AT T @ @b
TeSSST(\,n) (2,7)eENreT (i,7)
QM@= g7 [T (p@san(r)b;_;)
TeSMST(\n) (2,7)eENreT (i,7)
aPM(py= S g7 [1 (@ ®sgn(r)bj_it1)
TESMST! (A\n) (4,5)ENTET (4,5)

sgn(r) =0 ifr<0and sgn(r) =@ if r >0

0000SMST(A n)dDOset-valused Marked semistandard
tableaux OO



Combinatorial formula using EYD

GMapy= S [ wGi) [ Q+Bwta(p, )

DeE(N) (i,5)eD (p,q)€B(D)
QM@ = S [ w6, [ Q4Bwti(p,q)
De&L(N) (i,5)€eD (p,q)eBI(D)

GPMGpy = S I willG,) [ Q+Bwtil(p,q))

De&MI(N) (i,5)€ED (p,q)eBII(D)
wtn(i,j) = x;D bj
wth(i,j) = zi®z;  ifj<n
wtll (4, §) D if j<n-—1
n (2] Ti D Tj41 mysn

T Dbjr1-n Tj2m



B-supersymmetric OO0 0O

F(x) € A[B][x1,...,zn]00B-supersymmetric 000000000
1) F(z) 00zq,...,2, 000000000000

00006t = —t/(1 + Bt).

) GPl(”)(:c|b) =21 Px>® - P, 00 B-supersymmetric

000 DGP§n)(x|b),GQ§\n)(az|b) 0 OB-supersymmetricO 0 O .

Ssé”) 007Z[8][x1,...,2n]0 00 B-supersymmetricO 000 0
0000000000

SP,0000n000 strict partitionO0OO0DOO0O0OO
e. A=(A1,.., ), St A1 > > A >0, r<n

00 {GP)ER)(QMO)} 00ss§Y0z[g-000000
ANES P,
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DDDDRg’)D Wey|O OO0

RGY := Z[B][b1, ... bn, b1, .., Bal/ < b D By >i—1,. .

-0t _ 1 _

B

ePti — 1
p

W(Bn) — W(Cn) =< 80,51,y Sp—1 > W(Dn) =< $715,515 -+ Sn—1 >
O—O0—O0—0—0—0 éji>o O—O0—O0—0
so  S1 S2 Sn—1 S2 83 Sn—1

s; (1<i<n—1)00b; <> bjyq1, by b4 000000000

so U [1 b1 <—>Bl, §1 -= S0S150 b1 HEQ,bQ <—>51
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RV @555 000 W (Bn) = W(Cn) =< 50,81, 1,81 >
oDoooo

si(1<i<n-1)008s{Y0000000

F(z) e Ss§Y0ooon
sol” 1= F(bl,ilj]_, 737?7,) c R(n) ®Z[6] SS(n)

(left) divided-difference 0O 0O O

F — (14 8b(a;))s; F
b(a;)

b(a;) = b; © b1 (1 <4)

b(af) = by , b(al) = (b1 @ b1) , blag) = ©(b1 ® bo)
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"oooDoogroroooTogoo (left) divided-difference
RB .= Z[B][bq, bo, ...,51,52, L)< bi@gi >, SSB L= |<I_I’g SSén)

Rg-linear map @ : Rg ®y15 553 — || (Rg)v :00

G
vE WOOTX

n=(nl)v € (l,Re) X OO0DO(MOOOX=B,C,D)

nlv — (1 + 5bX(Oéz'))77|sy;v
b (o)

7T§X(77)|v L=

0 0 0 0Goresky-Kottwitz-MacPherson (GKMy) 00000

Mo = Nlsev 0 5%(a) 000000 Yae RY: 0000

o0 e0Ulmdonooonoot
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'oogogoogg

nw — ("w)wearé’ nw < (HvEGTg(O(Rﬂ)U)GKMX oot

1) nw|e — 5w,e
X/ w\ n%iv i s;w <w
2) m () = { (—B8)n%Y if s;w>w

0000000 (W(w)D ¢(»)000)0000000000000

00000v#e0000 s;v <0000 ;000000
s;w < w00 nYy = (14 B8b(a;))s;(n"]s;0) + b(a;)n®¥y
s;w > w000 7Yy = 5;(n%]s;v)

000{GP\(z|0,b)}resp, {GQA([D)}resp, {GPA(z|b)}resp
J$e000000X =RB,C,DO00000O0001),2)0000
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HRERERERERE

0000 (AB,C,D)0(00)D000ODO0DOTOOK-000
000000000000000000000000000000

D000 ooO0Trododoooonnddivided-differenced O [

oogyg

Oo0oo0ooooooo (AB,C,D)DODO0O0DO0O0TOO K-O00O
Jubotdboodbogubotgbotdbogdbobbotgbotdbogd

Jubgbootdboodbootdbmgbogd

D000 KUdoooooodooooodoooodooood
DO000(A0O0D0O00O0OLenart-Maenod O 0O)
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